The 56th ALL ASIAN DX CONTEST - 2015

Rusty, W6OAT

CW CONTEST PERIOD

From 00:00 UTC Saturday, June 20 (17:00 PDST on Friday, June 19)

Until 24:00 UTC Sunday, June 21 (17:00 PDST on Sunday, June 21)

48 Hours

The CW AA Contest has nine entry categories:

- 1. Single Op, Single Band 160m
- 2. Single Op, Single Band 80m
- 3. Single Op, Single Band 40m
- 4. Single Op, Single Band 20m
- 5. Single Op, Single Band 15m
- 6. Single Op, Single Band 10m
- 7. Single Op, All Bands
- 8. Multi Op, Single Transmitter
- 9. Multi Op, Multi Transmitter

Exchange = Signal Report + Age

Single Op OMs send report + age

Single Op YLs send either signal report + age or signal report + 00

Multi Ops send either signal report + age of operator or signal report + average age of all operators

Scoring for Non-Asian Stations

QSOs on 160m = 3 points QSOs on 10m and 80m = 2 points QSOs on 15m, 20m and 40m = 1 point

Multipliers are the total number of different Asian Prefixes worked on each band

Full AA Rules on NCCC Web Site

- 1. Go to www.nccc.cc
- 2. Click on All Asia sign-up button at top of page
- 3. Log in with User Name (kber) and Password (mountainmike)
- 4. Click on link to AA Rules

NCCC Objectives in AA:

- 1. Have Fun
- 2. Win all nine entry categories for Our Area

Our Area = CA, WA, OR, ID, NV, UT and AZ

No Team Competition in AA

SO

NCCC Internal Team Competition

- 1. Team Unagi
- 2. Team Maguro

(Thank you Fred, K6DGW)

Team Points based upon a percentage of the top NCCC score in each entry category

Or

If less than 10 QSOs,
Number of QSOs x 10 points
each

Sign up on NCCC website

Get Assigned to a Team

Live Scoreboard thanks to Stu, K6TU, and PL-259

Will work with latest versions of N1MM and WriteLog

		SO-AB			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	K6XX	1,049	1,136	419	475,984
2013	KU7T	1,014	1,014	382	387,348
2012	K8IA	1,176	1,234	366	451,644
2011	NF6A (K6XX)	1,140	1,206	364	439,984

		SOSB-160			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	Nobody				
2013	N6RO	2	6	2	12
2012	Nobody				
2011	N6RO	2	6	2	12

		SOSB	-80		
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	N6MA	58	116	34	3,944
2013	Nobody				
2012	N6MA	97	194	41	7,954
2011	N6SS	120	240	50	12,000

		SOSB-40			
<u>Year</u>	<u>Call</u>	QSOs	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	WJ9B	460	460	108	49,680
2013	N6SS	493	493	129	63,597
2012	KU6T	22	22	19	418
2011	N6WM	238	238	67	15,946

		SOSB-20			
<u>Year</u>	<u>Call</u>	QSOs	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	W6AWW	33	33	29	957
2013	K6AW	372	372	154	57,288
2012	Nobody				
2011	K6AW	563	563	164	92,332

		SOSB-15			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	W4UAT	139	139	79	10,981
2013	NR6O	510	510	139	70,890
2012	W6SZN	75	75	42	3,150
2011	WA6FGV/7	33	33	23	759

		SOSB-10			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	K7SS	4	8	4	32
2013	WQ6O	86	172	34	5,848
2012	K7SS	2	2	1	2
2011	N6ML	3	6	3	18

		M-S			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	Mults	<u>Score</u>
2014	NX6T	966	1,017	341	346,797
2013	K6MMM	940	1,087	382	415,234
2012	VCVV	044	1 076	240	265.040
2012	K6XX	944	1,076	340	365,840
2011	K6MMM	500	532	234	124,488
2011	KOIVIIVIIVI	500	J32	234	124,400

		M-M			
<u>Year</u>	<u>Call</u>	<u>QSOs</u>	<u>Points</u>	<u>Mults</u>	<u>Score</u>
2014	N6RO	1,910	2,123	572	1,214,356
2013	Nobody				
2012	N6RO	1,920	2,140	506	1,082,840
2011	Nobody				

June 21, 2015

<u>Tokyo</u>

Sunrise: 19:27 UTC 12:27 p.m. PDST

Sunset: 10:00 UTC 03:00 a.m. PDST

Tel Aviv

Sunrise: 02:35 UTC 19:35 p.m. PDST

Sunset: 16:50 UTC 09:50 a.m. PDST

<u>Callsign</u>	<u>Station</u>	Category	Level
N6RK	N6RK	SO 160	Serious
W4UAT	W4UAT	SO 20	Very Serious
N6TV	N6TV	SO AB	Very Serious
K6XX	K6XX	SO AB	Very Serious
K6KR	K6KR	SO AB	For Fun
W6SX	W6SX	SO AB	For Fun
K6DGW	K6DGW	SO 15	For Fun
ND2T	ND2T	SO 15	Serious
K6SRZ	K6SRZ	SO 80	Very Serious
W6NV	N6DZ	MS	Very Serious

1. Sign up on NCCC website

2. Sign up here

Operator(s) Callsign

Station Callsign

Entry Category

Seriousness Level

E-mail Address

Telephone Number